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randox III : JyuS vlgic CA 199 s Giwlosl wlgic
\YAq/ /Y JyiS g9, -[EC\V5 5 wslw Syw  simense s oiws Ulgis

0T | IT.FSQ [ YeY.var [ YIVASY | Yra.or) | YYi.a | YOR.YFQ | YSS.SYA | Yva.eev

WC\C\/ C\/TY YY~ WC\C\/ q/n Y\°~ qu/ q/ )

YFO 1Ya9/+9/V¥ YO\ \Yaa/-a/\ Y YV \Ya9/+9/+Yy
Y5O 1Y29/+9/70 YY? \Yaq/-a/\ Y YY. 1YQ9/-9/.Y
YYY 1YQ9/+9/V# YFe 1Ya9/-9/10 YY) 1Ya9/.9/+¥
YYO 1YQ9/+9/vV YO \Yaa/-9/) YYY \YQ9/+9/+0
YV \YQ9/+9/y- YYO \Yaa/-9/\V YYV \YQ9/-9/+ ¢
YYY 1Ya9/-9/\A YFe 1YQ9/-9/+A

YFe \Yaa/-a/14 TYY \Ya9/-9/+9q

YO \Yaa/-q/v . YYO \Ya9/+9/) «

CV%: 5.646 | SD: 13.773 | Mean: 243.958




